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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Write very short answer/Fill in the blanks:
1x7=7
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(a) Who coined the term ‘ecosystem’?
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(b)

(c)

(d)

(e)

What is the status of bacteria in an
ecosystem ?
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Presence of sunken stomata is
adaptation.
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(g9 What is taxon?
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Answer the following : 2x4=8
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(@) What do you mean by ecological
pyramid ?
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(b) What is detritus food chain ?
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(c) Write the importance of ‘Botanical
Gardens’.
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(d) Mention the various groups or units of
classification in hierarchical order.
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3.
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Answer any three of the following :
5x3=15
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(a) Describe the adaptations of xerophytic
plants.
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(b) Describe the role of nitrogen cycle in

an ecosystem.
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(c) Discuss the role of palynology in plant
taxonomy.
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(d) Describe the various stages of ‘xero-
sere’.
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(e) Give a comparative account of natural
system and phylogenetic system of

classification.

aﬁmﬁa@%m@f@@ﬂ%ﬁw
e @6 wife €l

Write briefly the influence of climatic factors

on the growth and development of plant.
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Define ecosystem. Discuss the different
of energy flow in an ecosystem.
1+9=10

pathways
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Define succession. Describe the various

stages of succession in nature. 2+8=10
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What are the principles of Engler and Prantl
system of classification ? Write the merits
and demerits of this system. 5+5=10
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6. Give an account of the outline of Bentham
and Hooker’s system of classification.
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What is typification ? Discuss briefly about
the various ‘type’ and their role in plant
nomenclature. 2+8=10
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